Progression in Calculations. Y4

Multiplication.
Year 4
. MUltIply 3 Numbers ) Complete the calculations.
Children are introduced to the ‘Associative Law’ to multiply P
3 numbers. This law focuses on the idea that it doesn’t DD DD Z2xa4=_—
matter how we group numbers when we multiply. :
e.g. 4x5x2=(4x5)=20x2=40 or 4x5x2=4x(5x2)=4x10=40 :::: [ 2XAT— [ 3x2x4=3x8=
They link this idea to commutativity and see that we can Prpeeacey B
change the order of the numbers to group them more [ =T 1" . 2xa4=_—
efficiently. e.g. 4x2x5=(4x2)x5=8x5=40 B
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MUItIpIy Z-dlglts by l-dlglt Whitney uses place value counters to calculate S = 34
Children build on their understanding of formal —
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Children use their knowledge of exchanging ten ones for s b= IR e
one ten in addition and apply this to multiplication, including Ron also uses place value counters to calculate 5 x 34
exchanging multiple groups of tens. They use place value = 56T gfg: nirie
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Progression in Calculations. Y4
Multiplication.

Multiply 3-digits by 1-digit
Children build on previous steps to represent a three-digit
number multiplied by a one-digit number with concrete
manipulatives. Children continue to exchange groups of ten
ones for tens and record this in a written method.

F Complete the calculation.
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F A school has 4 house teams.

There are 245 children in each house team.
How many children are there altogether?
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